(7) 4.4 Limitsinvolving infinity (A)

P1

HOSSAM GHANEM

(7) 4.4 Limits involving Infinity (A)

()Main Rules
lim L 0 Jim % = oo
X—00 X
1 : T _
lim—=0, r>0 lim x* =, 7>0
x—oo xT ’ x—9
1 : ay~* b>a b\*
im — = lim r* = o T [T e . (I
Jim =0 2 im(G) =0 lazol hm Q)
1 oy 2\” Al
T el el Gizo B ()
lim = Bx]  lim lim(3) =0 E
(2) quotient
=D i
Numerator degree enominator degree ! W23 _ac. ane@ll
im ==
—00 3 —
Al a5 (g gl ol s e IS 7
Numerator degree > Denominator degree i 2x°> —3x + 11
m
xo® 27x% + 9x — 5 00
Aiall 2 3 o ST Lol A 2 =
Numerator degree < Denominator degree 3x*+ 7x + 11

aliall A )3 (pe jraal Jasll 4 5

HOSSAM GHANEM

65168855




(7) 4.4 Limitsinvolving infinity (A)

HOSSAM GHANEM

v | LIMITS INVOLVING oo

g

Va2 g

oy

a

as x > o, |x|=x
as x> —o , |x|=-x

otvw@
x = 3x3

£l G el
o) O rall falal d
Ol ol o o)

Yoy

lim

i
0% 7x5 —x — 4

i Tatetan. SiEES

3x4+7x+11_

polynomial %25~
polynomial 4,
— 1 Wi
— =0 S0 ¢ A ST o o
xr
5141
_ 4xP-5x+1 4ttt 4
lim ——— = lim = =
x>0 7x3 +2x — 3 x—»oo7+£_i 7/
2 3
X X
ANt
2x° —3x +11 aEEitEl 2

Ri= ZANR LI
el
= lim ==—=0
x—00 1 4 i
7=~

HOSSAM GHANEM

65168855

1
o S0 Al

5LaY! a5,k 00

M ol sdey ose
0855 4 Sy D e
05 Ay g Al 3Lay)
(—00) U

) 1
lim
x->5t X —
3D sl aysad) s

= 00

— s 0 W)
O

sLayl aaky 00

Ml ST ouny oge

0553 6 Sy 5

055 sy Bmsa L2

L

(00) U

74




(7) 4.4 Limitsinvolving infinity (A)

Example 1 Evaluate the following limit i ﬂ
X—00 x
Solution
x=300 o0
- Vx AL
b=m>= ;Lr?o\/—\/; = lim—= =0
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Example 2 Evaluate the following limit 1ied ﬂ
x—00 8x — 2x3
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Example 3 Evaluate the following limit lim Vx+8-2
X—00 x
Solution
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Example 4

21 May 27. 2001

Evaluate the following limit
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A/ 2
Example 5 Evaluate the following limit lim i
36 January 17, 2010 x-=0 2x + 1
Solution
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T - 5%+4
E)(arnge 6 | Evauatethefollowing limit lim r—
X—00 —
Solution
4
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x—»0 8 — 3% X—00 i_ (E) 0
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Example 7 Evaluate the following limit ~ lim +/2x2 + 3 — \/Zx2 -5
44 November 9, 2006 Fa®
Solution
L= lim (V2x?+3-J2x2 —5) = w0 — o
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= 11m = 1m
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Example 8
9 January 8 Evaluate the following limit lim (\/xz R x)
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1994
Solution
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Homework

1 | Evaluate the following limit lim x — x2 — 3x 4 May 19, 1992
= X—00
2 | Evaluate thefollowing limit lim (Vx +9 - Vx) 10 June 6, 1994
(2pts) Evauatethe
3 | following limits, if they lim x++x2+3x+1 55 April 8, 2010
exist, 1R
4 | Fvauete hefollowing  jim (x2¥x-x) (2pts) 57 November 82010
= | limits, if they exist: x—>00 ' ’
5 |[2pts]Find lim ( 2x —/4x? + 52 ) 39 5June, 2011
= X—00
10 — 3*
© | Evaluate the following limit li
T X0 20 — 3%
X
[ | Evaluate the following limit lim &t 4
T x-—00 8 — 7%
O | Evaluate thefollowing limit limx —+/x2+1
- X—00
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a IR Y 10 — 3*
%) Evaluate the following limit lim 0-3
= x—-00 20 — 3%
Solution
10
il " 2 el G
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e
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[ Evaluate the following limit lim +
v x—>00 8 — 7%
Solution
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